 Quelse s17

:-_jow Ty, = 8“: W/Wgsqmﬂ )

sl ot R ~
mhl&r med msafsnr aap 7‘29 wnke{/na"tm o X, o9 Zz Uagfh y
h/U ;
“ E(x,) zE/x,) A
\W&) \V[J; ) ,2 ( \V(R2 R) 2 VIRIVIR)
. R0 )

%cw,/m X-;L(x fx;)
V(E)- (;/1(V(54)t\vm))— 7 (3%, *20,32 /9
fecety ‘1‘; CR, = 0% 5 (ftﬁw@sspmdmd)
mAer med n ses 2r, oW ,,3-. )*,’,,‘ uadh hoer
Eg) s p
\WY) 2 L,m .
Mictore oats Y ""(Y +~*V)
\wz)bnz n\vm —&L SRULIE R
xﬁ?mm.( U@f a,eroto(,U&»‘s.m-a ows. ens Wrwaf X@ fa,&/sé‘

[incire.

. ‘ N o 3
N = Q:Lﬁ.a gfa =125

' d,us dzrslml Ma°Zw mea( 72; .Sarbzrfra,{- 7;2 de&[m ken /‘M&é’
- Mmed. cs‘cmmz U@f | "

‘‘‘‘
i i ! 1

L i
T T T i T T I T



Oz G =500 ™ i

1 | 1Jy2 |93/ | 08357 |09ze2 | 41?0
2 |)1583 |9759 | o063 |csve | 29726

3 |75 |a3s3 | dssée  |ozes | acedy

Pzt J-1 k7= 9754,9 mm
] eY—— N

,mm,{r_;’
= 3,8Y
k/ : ,zga '/f—"l —3__.————,"'—_”1_'—
C) .X "'W(/((I) lwarO\vSS‘/mm,,,, v
P(—/,%<X =il ‘/%) 0,95 |
M?O( 9S % ss. u obs. arLX ‘&3—( ¢_
) Thae s _.._/_" 5/,%:“, R
J T .
R7-I%eq ¢ 4o +/n§ T D% kaprensinivel pr /(
Jnooat 3= ??S‘lamm ,00 G‘-;3SVMM‘
[ &3y, Q%oﬁmmj 95 % Rorpanknet 4y Je
C |
Ms: h=9,% m Swémwwer@towd Vo) Obsevehoy
o




k’@w?.l

r</

Ma/(//( ﬁ&mgk MZ@Z} Q%«h
E(Z,) - /E/z ),/4
Vi&)-0t < V() -
lag 0¢w<g:
o) x E;t(1-a) K, Gobeal eppratr, P
(E(xZ, +(1~«)X)— ot/EfJ.,h 1—«)/5(5,,) a(/—HM-a/-{ = |

b v’
) Vixgirm)£)- o \WZ,MH) CAREERTN
\TCOARNCE oc)X)— o 0‘4 *+0rat-20) 02
((/“21@)0( - 07k t 037

-6
ﬂo(-fBo(rC nmnu—’?—}r




